

BHARAT COKING COAL LIMITED (A subsidiary of CIL) Office of the Chief General Manager Bastacolla Area PO. Jharia DT. Dhanbad.

Ref. BCCL:IX:10:AGM:SOR:TPTN:130

Dated. 13.04.2010

NOTICE INVITING DISCOUNT BID

Discount bid in terms of Rs./Te are invited in sealed cover from registered contractors under BCCL SOR for transportation of coal from different Surface coal Dumps of OCP/UG Mines of Bastacolla Area to CKE/CKE siding by mechanical means under the DOP of Chief General Manager, Bastacolla Area on Revised SOR2010 and Diesel base price of Rs. 37.92/ltr. (w.e.f. 02.03.2010) under Discound Bid for a period of 2 (Two) months i.e. from 01.05.10 to 30.06.10.

SI. No.	Description of work	Lead slab(KM)	Quantity (in Te)	Rate-SOR	Amount
				Rs./Te	(Rs.)
1.(a)	9 Pit Tippler coal Dump Chandmari sec. to CKE siding	7 - 8	8000	40.02	320160
(b)	Victory Pit coal dump to CKW siding	8 - 9	12000	44.71	536520
(c)	Victory OCP coal dump to Feeder Breaker	6 - 7	5000	35.27	176350
	Feeder Breaker to CKW siding	0 -1	5000	8.61	43050
2 (a)	Dobari UG coal dump '0'seam to CKE siding	3 - 4	4000	21.67	86680
(b)	Dobari UG coal dump 6 Incline to CKW	4 - 5	5000	26.86	134300
(c)	Dobari UG coal dump 9 Incline to CKW	4 - 5	3000	26.86	80580
(d)	Dobari UG coal dump 16/17 No. to CKW	4 - 5	5000	26.86	134300
3.(a)	Bera OC coal dump 21/22 no. to Feeder Breaker Feeder Breaker to CKW siding	5 - 6 0-1	4000 4000	30.47 8.61	121880 34440
(b)	Bera UG coal dump 21/22 no to CKW	5 - 6	2000	30.47	60940
4 (a)	Kuya '0'seam UG to CKE siding	2 - 3	2000	16.42	32840
(b)	Kuya 12 Incl Heap no.5 to CKW	2 - 3	2000	16.42	32840

Description of work:

	Kuya OCP coal Dump No. 1/2to Feeder Breaker	1 - 2	65000	12.11	787150
-	Feeder Breaker to CKW siding	0 - 1	65000	8.61	559650
	Ghanoodih OCP combined seam 24/25 no. dump to Feeder Breaker	3 - 4	75000	21.67	1625250
	Feeder Breaker to CKW siding.	0-1	75000	8.61	645750
	Ghanoodih 'X'seam OCP 27 no. dump to Feeder Breaker	3 - 4	18000	21.67	390060
(b)	Feeder Breaker to CKE siding	0 - 1	18000	8.61	154980
7	Tipper loading by P/L at Surface.		210000	7.63	1602300
8	Tipper loading by P/L into Wagons		210000	7.63	1602300
9	Picking		167000	4.53	756510
	TOTAL:		210000		9918830

<u>Availability of Bid Documents</u> – Bid Documents comprising of this notice along with respective bill of quantities for the above may be collected from the Office of the undersigned during working hours on any working day free of cost from 15.04.10 to 28.04.10 upto 4.00 PM.

Last date of receipt - On 29.04.10 afternoon at 1.00 PM.

<u>Date of opening of Discount Bid</u> – On 29.04.10 at 3.00 PM in the office of the AM(Planning), Bastacolla Area in presence of the Bidders or his authorized representatives.

<u>Place of submission of Discount Bid</u>- Office of the Area Manager(Plng), Bastacolla Area, BCCL.

<u>Validity period of Discount Bid Offers</u> – The rates offered shall remain valid from 01.05.10 to 30.06.10.

General Instructionss for submission of Discount Bid.

1. The Contractor is required to submit his/their Discount Offer is sealed cover giving reference to his notice number and date as well clearly superscripting the cover with the name of the work.

2. The Bidder is encouraged to visit and examine the Site of Works and its surroundings and obtain all informations that may be necessary for submitting the Bid. The cost of visiting the Site shall be at the Bidder's own expenses and it shall be deemed that the bidder has visited the site/area.

Contd...P/3

3. The Bidder shall offer for the Whole Works as described in bill of quantity submitted by the bidder , however, the Employer reserves the right to allot part of the work at their discretion and no claims, whatsoever, shall be entertained in this regard.

4. The Bidders shall fill in rates and prices for all items of the works described in the bill of quantities. Corrections, if any, shall be made by crossing out, initialing ,dating and rewriting.

5. Any Bid received by the Employer after the deadline prescribed in the Discount Bid Notice due to any reason what so ever will not be accepted.

6. Information relating to the examination, clarification, evaluation and comparisons of Bids and recommendations for the award of the Contract shall not be disclosed to Bidders or any other persons not officially concerned with such process until the award to the successful Bidder has been Any effort by a Bidder to influence the Employ a Bidder to influence the Employer's processing of the Bids or award decision may result in the rejection of his Bid.

7. Bids determined to be substantially responsive will be checked by the Employer for any arithmetical error. Errors will be corrected by the Employer as follows:

a) Where there is a discrepancy between the amounts in figures and in words, the amounts in words will govern; and

b) Where there is discrepancy between the unit rate and the line item total resulting from multiplying the unit rate by the quantity, the unit rate as quoted will govern.

c) Discrepancy in totaling or carry forward in the amount quoted by the Contractor shall be corrected.

8. The tendered sum so corrected and altered shall be substituted for the sum originally tendered and considered for acceptance instead of the original sum quoted by the Bidder along with. The amount stated in the bid will be adjusted by the employer in accordance with the above procedure for the correction of errors and, shall be considered as bidding upon the Bidder.

9. The who's Bid, has been accepted, will be notified of the award by the Employer prior to the expiration of the Bid validity period by Cable, Telex or Fascimile confirmed by Registered Letter. The Letter (hereinafter and in the conditions of Contract called the "Letter of Acceptance") will state the sum that the Employer will pay the Contractor in consideration of execution and completion of the work by the Contractor as prescribed by the Contract (hereinafter and in the Contract called "The Contract Price"). The notification of award will constitute the formation of Contract, subject only to the furnishing of a Performance Security/Initial Security Deposit in accordance conditions of SOR-2009.

Contd...P/4

10. Contractors are to employ, to the extent possible, only local project affected people and pay wages not less than the minimum wages fixed by the Laws of the Land.

11. Matter related to any dispute or difference arising out of this tender and subsequent contract awarded based on the Bid shall be subjected to the jurisdiction of the Dhanbad Court only.

12. Penal action in case of failure on the part of the Bidder-The registration of the SOR Contractor shall stand cancelled and withdrawn in case the successful Bidder fails within the specified time limit to furnish the required performance / Initial Security Deposit, sign the Agreement and the Bidder does start the work within stipulated time. Once a SOR registered Contractor is penalized on this count, he may as a special case appeal to the Director(Technical), BCCL for Re-registration for which the de-listed SOR Contractor will have to deposit Rs. 10,000/- towards re-registration fee (non-refundable) on receipt of demand from BCCL. Managment to deposit the same. However, re-registration of a de-listed SOR Contractor will be on the sole discretion of BCCL Management.

The Company is not under any obligation to accept the Lowest Bid and reserves the right to reject any or all Discount Bids without assigning any reasons what-so-ever and also to distribute the work and allot the work/s to more than one Bidder at its sole discretion.

> Addl. General Manager Bastacolla Area.

Copy to:-

- 1. D(T)OP, D(T)P&P, BCCL. Koyla Bhawan.
- 2. CVO (Vig.), BCCL. Koyla Bhawan.
- 3. GM(CMC), BCCL. Koyla Bhawan.
- 4. All CGM/GM, All Areas of BCCL With a request for giving wide circulation in their respective areas.
- 5. All Project Officer, Bastacolla Area.
- 6. CGM, Bastacolla Area.
- 7. Area Finance Manager, Bastacolla Area.
- 8. All Registered SOR Contractor (by registered Post).
- 9. Area Notice Board.

10.HOD (System), Koyla Bhawan BCCL-with a request for publishing in BCCL website.(Soft copy alonwith forwarding letter enclosed). Since sale of bid document will start from 15/04/2010, you are requested to upload this Notice Inviting Discount Bid before 15/04/2010.